EARAROBEEIERT — 2 N— IBISH —F

2012898220 (4) 4mEFR#H6H

v >%3%t 5005TF UEwl iR

‘ [R1%] & ‘ [REBB] — | & (&) 20000 B

[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
# 3 | =R 2:06.2 6-5-6-5 |37.9| — 1 478 | EAIEFE (ER)
1[5[10| FRETTIFIL 54.0 o (g | (B) EviLyKTr—L
RTIRAFY &I B:T75—La—-) EvJILy RT77—L4
N 1= :06. -14-9- . — LA (EXR)
3| 74> rnmq # o | En N R
L:Er/n7aq BiL—FrR-4Fr J—HrTp—L
SR . 4 5 | AMAEE 2:06.5 15-14-3-2 | 38.4 | — 12 | 514 |WEZ (ER)
k1 6 RIIREE E 57.0 @ () | A VS
YL KYIYRIR BiZAA— IR P UL e
o4 | AEEN 2:06.9 7-7-12-11 | 38.0 | — 7 514 | AEME (RR)
717714 — 57.0 (2 1/2) (+g) | RRER
R:TTRRAxFL BAL/HIAYF E e
N o3 | A 2:07.0 11-11-9-9 | 38.4 | — 6 546 | BREEHE= (3ER)
o | T4V Y 54.0 (7€) (-g) | TS
R:2¥2y3% B:JLAYMZXE2-—X HeE77—L
s E N EE :07. -12-12- . — MALE (EX)
4 TATY 21911 4 3 o 2(7%? 11-12-12-11| 38.1 8 (4;;0) LS
L:7Y%EF% BIL—XTI—v—X EERNEZ e ]
B > 5 | JIEEH 2:07.1 16-16-14-14| 38.0 | — 13 | 452 |JLHEA (EXR)
7 Q12| V7 ARER 57.0 ) o |EREHILY
i F—TRTN=F B2 7a1zZ)N—=HIL 2 HiE
= > o4 | BEREN 2:07.2 5-5-6-5 |38.9| — 4 480 | EERE— (FH)
gl7l14 7—F—tEv X [B] 57.0 (3/4) o |MEXE
L:8=/FLLy b B:Y—€ET /e ]
S AT 4 3 | EEME 2:07.6 7-7-8-8 [ 39.1| — 9 450 | AREBEZ (ER)
91815 A3 ITIRY 54.0 (21/2) (+14) | AAAFIE
LFA—TANT N B A= bXR=LTY—7 Ere]
; ¢ o4 | FIEHEZ 2:07.6 13-13-14-13| 38.5 | — 5 452 | EAAR=E (BR)
EH 5|I—ILKI—ZZ— 57.0 (F) (+p) | EEAE
R RYYYRIR B:74)0780—L =Y Ty—LA
v RIF— K 44 | PHBEZ 2:07.7 1-1-4-5 | 39.5| — 10 | 478 |EE#Z (BR)
11/8/16) 77 FAE—F 4540 (3/4) o | B TIF
LH A HE -y FTU—N—F REHS
IR : -3-2- — EKEBFN (BER)
1 6| PIVERZTILA— b (B] o4 A 2(.30/(4.)9 3-3-2-2 | 40.0 2 <4+7‘3 5ﬂzEEI7E$
TP BA749 97714 B:V—JLy hTFRXT0= ESatie]
. A 4 3 | BEXE 2:08.5 4-4-4-4 | 40.3| — 11 480 | EEME (ER)
13 8 AZXhFTH L 54.0 (3 1/2) (+6) KFER
X THANAN BRI HT LA X TREHIS
4 3 | ERFET 2:09.5 9-9-16-16 | 39.7 | — 16 | 52 |AR—R (EX)
1417113 7x7—7x154h . 54.0 (6) (-6) Z2EERE (#)
R:x>THXANAN BTV T9H— =5 &
[PUTI o4 | EEBZ 2:09.9 2-2-1-1 | 42.2| — 14 | 482 | BHTHH (BR)
15/ 11 | N7 Y A54.0 2 1/2) () | ) H T3-KL-va>
L ZXxv> By RoLT+ pIEsEae]
R # o6 | BREE 2:10.2 9-9-11-14 [41.3| — | 15 | 480 |WAEE= (=)
16)5[9 | 7T~ RAALNA 5.0 (1 3/4) (-22) | W0 DT>
R:w>NyBgh7x B:Fv7 HIARBY b
@ 71 L
) 50.9-38.5
NA> 24 L | 12.5-10.8-11.4-14.4-13.7-12.5-12.4-13.0-12.3-13.2
® I —F—@EBIERL
13=3r= 16,1,6-8-14,10(7,15)-(9,13) (2,4)-5-3,11,12
2= = 16,1,6,8(10,14) (7,15) (9,13)2,4,5(3,11)12
Gol=5r= (x1,6)11(16,8)-(10,14)15(3,2)9(7,4) (12,5)-13
40—+ — (x1,6,11)8(16,10,14)15(3,2) (7,4)5(9,12)-13
[ N3
BB 10 320H 714K 3-10 510 e E 2-5 780M JEHE 3-10-11 18,780H
8 B 10 1509 10-11 2,340H B = 3-10 1,190 B 10-3-11 67,060
3 240M 3-11 5,260/ B H 10-3 1,840/
1 930H

ABICOVWTRDTEEERROODE. TR LIV,




